15. Stock and asset management.
Multiple choice questions (learner)
A company has some parts and components in its warehouse ready for use. What are these called?

a. Surplus
b. Assets
c. Supply
d. Stock


Why would a company keep some components in its stores?

e. To store old, unwanted components
f. To allow access when needed
g. To keep the store staff busy
h. To make the company’s value as high as possible


What is the correct definition of inventory?

i. All the assets of a business when added together
j. A list of stored products ready for sale
k. The unsold stock of a business, including materials, components, work in progress and finished product
l. The whole stock of a business, including materials, components, work in progress and finished product


Why is it important for a company to manage its storage costs?

m. Because money tied up in storage costs cannot be used for anything else
n. Because storage costs are tax deductible
o. Because low storage costs mean the business is doing well
p. Because low storage costs mean the business is highly competitive


Stock is ‘written down’ when it is:

q. Broken
r. Recyclable
s. Obsolete
t. An old model





What does JIT stand for?

u. Just in trust
v. Just in transport
w. Junk in transit
x. Just in time


What does MTS stand for?

y. Made to stock 
z. Manufactured to standards
aa. Make to start
ab. Made to save


What does MTO stand for?

ac. Make ten only
ad. Made to order
ae. Made to oversell
af. Manufactured to original 


Which of the following is not classed as stock?

ag. Copper wire
ah. Lathes
ai. Printed circuit boards
aj. Nuts and bolts


Which of these best describes a supply chain?

ak. The list of companies that want to buy the product
al. The companies involved in delivering parts and components for a product
am. The people working on the production line
an. The order form on the company’s webpage


Sub-assemblies are made from:

ao. Raw materials
ap. Consumables
aq. Spares
ar. Components





What are finished products classed as, prior to distribution and sale?

as. Stock
at. Plant
au. Machinery
av. Work in progress


What is calculated using the whole life approach?

aw. The value of components over their storage life
ax. The total cost of owning an asset over its entire life
ay. The expense of disposing of redundant assets
az. The total cost of writing off machinery at the end of its useful life


If the value of an asset falls over time, which plant-related budgetary cost rises over time?

ba. Depreciation
bb. Maintenance
bc. Fuel consumption
bd. Collectability


Capacity management is best described as:

be. Managing inventory at all times and under all conditions to achieve maximum profit
bf. Maximising output at all times and under all conditions to achieve maximum profit
bg. Managing assets to minimise costs and adhere to budgets
bh. Maximising output, regardless of profitability


The stages of the asset management life cycle are:

bi. Purchasing, asset listing, operation and maintenance, disposal
bj. Planning, acquisition, operation and maintenance, disposal
bk. Planning, accounting, repair, disposal
bl. Planning, acquisition, installation, destruction


A staff shortage on a production line is slowing down the packaging process, and products are accumulating in this area. This is known as what?

bm. A strangulation
bn. A narrowing
bo. A bottleneck
bp. A hiccup
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Which of the following statements is true?

bq. The more stock a company holds, the higher the cost of storing it will become
br. The higher the cost of storage, the less valuable will be the stock
bs. The more stock a company holds the cheaper it will be to store in bulk
bt. The lower the cost of storage, the more assets will depreciate


The value of something in storage goes down in value over time because its resale value decreases. What is this known as?

bu. Disparity
bv. Depression
bw. Depreciation
bx. Devastation


Capacity is:

by. The level of demand placed on a given asset
bz. The amount of free space in a warehouse
ca. The ability of assets to meet sudden demand
cb. The ability of available resources to meet a certain level of demand
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